base

362T125-54 (50 KSI) FULL DEPTH

WEB STIFFENERS AT EA. END OF EA. design group, inc.
BOXED HEADER STUD MEMBER. 94 Auburn Street, Unit 206, Portland, Maine 04103
(TOTAL OF (2) STIFFENERS EA. END) € 2075532070 - £ 2075532072

www.basedesigngroup.com

SHOWN. SEE TYP. DETAILS SHEET
FOR ISOMETRIC VIEW OF DETAIL.

Prepared For:

Michael Charek Architects

Portland, Maine

\
|
| ATTACH W/(6) #10—16 SCREWS AS
\
|

‘ L

| BOXED HEADER. SEE SCHEDULE
| FOR CONFIGURATION.
|

FULL HEIGHT KING. SEE
SCHEDULE FOR CONFIGURATION.

UNDERSIDE OF HEADER. SEE
SCHEDULE FOR CONFIGURATION.

| ]
||
| [~ JACK STUD ASSEMBLY TIGHT TO
| ]
|11

(D1 DETAIL: BOXED HEADER WEB STIFFENERS
W SCALE: 1" = 1'-0"

ALL HEADER AND SILL MEMBERS MUST BE CONTINUOUS, NO SPLICES ARE PERMITTED.
ALL HEADERS TO BE UNPUNCHED MATERIAL ONLY.

HEADER, SILL & JAMB MEMBERS SPECIFIED ARE TO BE CONSIDERED MINIMUM PER STRUCTURAL
DESIGN. INCREASES IN FLANGE OR GAUGE AS NECESSARY OR DESIRABLE ARE ACCEPTABLE.
BUILT UP MEMBERS MUST BE CONNECTED W/(2) #10-16 SCREWS @ 12” o.c. THROUGH WEBS
AND W/(1) #10-16 SCREW PER FLANGE @ 12" o.c.

COORDINATE ALL WOOD BLOCKING REQUIREMENTS AT ROUGH OPENINGS WITH ARCH. DWGS.

Description

TOP TRACK. SEE TOP TRACK. SEE L
WALL SECTION. W WALL SECTION. W =
| | | | | | | | | PRI
| | | | | | | | | g[S
| \ \ \ | \ \ \ \ ©
| | | | | | | | | 1
\ \ \ \ \ \ \ \ \ A
‘ ‘ ‘ ‘ CRIPPLE STUDS TO ‘ ‘ ‘ ‘ ‘ Issue Date:
| | | | MATCH MAIN WALL | | | } | 09/13/17
| | | | STUDS, TYPICAL | | | | CRIPPLE STUDS TO
| | | | | | | | | MATCH MAIN WALL
\ \ \ \ | | | \ \ STUDS, TYPICAL
| | | | | PROVIDE FULL DEPTH WEB | | \¢
| | | | | STIFFENERS AT EA. END OF | | o)
' | FA. BOXED HEADER STUD | | ©
— U ISR S S—— ) \ | MEMBER WHERE REQ'D. | | C
| | | SEE DETAIL D1/S—103. | | D_ é
| |
' 7| 195"x1%"x3%” 16 GA. CLIP ‘ | | 1 | 2
i ] iy £ 16 Gh e e ——  — h — P ®©
| | | | ANGLES.  ATTACH W/(3) - ' ' i | Nt
| \ | #10-16 SCREWS EA. LEG. | _ O u
| 1] BOXED HEADER: oy | | — | (-
| (2) 600S162-68 (50 KSI) + == || | | AL 'y 15"x1%"x3%" 16 GA. CLIP D ()]
|| essGo I 5 [ o o SR | P o) 2 c .,
| || CONT. TRACK TO HEADER TOP TRACK | (2) 600S162-68 (50 KSI) + | i n = £
\ Tl e e mik L wer N | R =l S =
| | OF HEADER) ATTACH TO HEADER *\ || 1%” EA. END FOR ATTACHMENT | | (D) g
| | | | W/(4) #10-16 SCREWS PER FLANGE. ! i 4 BA : || P N 5
¥ -
| | 112 | | ATTACH TO JAMB W/(2) #10-16 - ' FULL HEIGHT JAMB: L | CONT. TRACK TO HEADER TOP TRACK O N T
| | SCREWS @ 12” o.c. VERTICALLY. ’ (1) 362520054 (50 KSi) | FLANGES. (TOP TRACK FULL WIDTH ) - @ <
1] IR P4 | | OF HEADER) ATTACH TO HEADER *\ g
| In + m F7 | | W/(4) #10-16 SCREWS PER FLANGE. ¥ L ®) 2 S
[ || <]3\ d || j@ | | ATTACH TO JAMB W/(2) #10-16 ’ ’ cC | >
FULL HEIGHT JAMB: | P | 11 JACK STUD I SCREWS @ 12” o.c. VERTICALLY. B O g
| - \ 1 m : || D s T
| (1) 3625200-54 (50 KSl) } | o i (1) 3625200-54 (50 KSI) + || 7 R O Q ©
| | CONT. JACK STUD TIGHT TO — = (1) 362T125-43 (33 KSl) | | <]3\ 7 QO D <
| | - | | UNDERSIDE OF HEADER. SEE | TIGHT TO UNDERSIDE HEADER. | > o
| :I;; i | ELEVATION FOR STUD SIZE. i i | l\\ - | o by
| 1] e || ATTACH TO TRACK W/(1) #10—16 ', || QD || o, U
| | In SCREW PER FLANGE @ 12" o.c. Il — | CONT. JACK STUD TIGHT TO — = L0
| | iR | SILL: || UNDERSIDE OF HEADER. SEE "—‘C
° +
| ] ACK STUD: IR a2 || (1) 3627125-43 (33 KS) / || ELEVATION FOR STUD SIZE. . -
Il (1) 3625200-54 (50 KSI) + || ¥ Il ~ || ATTACH TO TRACK W/(1) #10-16 v H ©
| (1) 362112543 (33 KSI] | e | ——— I— || SCREW PER FLANGE @ 12" o.c. - ’
TIGHT TO UNDERSIDE HEADER. | | i | | | il o = O 2
i | 1] l\\ In | JI_ | | " _IL“ N, - I_ £
| ] - IR | ] | | | T . 2 ) <
| O | | L] | | | | | 6” PIECE OF STUD, e 2
| | JACK STUD CONFIGURATION i || AUGE 0 WATCH WAL 5
| | | | & ATTACHMENT DETAIL | | | | | STUD UNO. ATTACH 5
| | | | | } | | | } | TO SILL W/(1) #10-16 =
| | | | | SCREW PER FLANGE & N7
| 1] | l | | | I TO JAMB W/(4) JACK STUD CONFIGURATION \\\\\\J\\?:iﬁ..(?.ﬁ.f‘,’,’f,!/,v’//@
L] Ik L | | | || #10-16 SCREWS. & ATTACHMENT DETAIL S R
| 1] In || | | | | | E 7 Ll ixZ
|| In || | | Em CRIPPLE STUDS TO S NATB%NS% I
| In ||| | | | IR MATCH MAIN WALL i NPT I
H s -+ : : : s STUDS, TYPICAL = o, P75 RS
— T N | | u N 205 TN S
(2) PAF's IN 12" (2) PAF's IN 12" e AN
4'—4"+ MAX. R.O. 7 ‘ 4'—4"+ MAX. R.O. 7 7 S
(COORD. WITH ARCH. DWGS.) \ (COORD. WITH ARCH. DWGS.) \ Projoct Number: 170451
Drawn By: LP
ATTACH BOTTOM TRACK TO ATTACH BOTTOM TRACK TO Reviewed By: __MB /NB
CONCRETE W/(2) PAF’s CONCRETE W/(2) PAF's Sheet Title:
WITHIN 12" OF JAMB. WITHIN 12" OF JAMB. OPENING
FRAMING
ELEVATIONS
Sheet Number:
b M
/HT DOOR FRAMING ELEVATION — TYPE 112 /H2\ TYPICAL WINDOW FRAMING ELEVATION S-103

S—100/" NOT TO SCALE (DOOR TYPE’s *113’, *114°, "116°, "117’ & '118" SIMILAR) S—100/ NOT TO SCALE (MEZZANINE BEARING WALL R.O. AT COLUMN LINE ’1°)

© Copyright BDG 2017




